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1) Fill the 4 times table. 
 

4 x 1 = ___ 

4 x 2 = ___ 

4 x 3 = ___ 

4 x 4 = ___ 
4 x 5 = ___ 

4 x 6 = ___ 

4 x 7 = ___ 

4 x 8 = ___ 

4 x 9 = ___ 

4 x 10 = ___ 

 
2) Find the value of 2 times 7. 

 
3) Complete the given circle by writing 9 times table till 12. 

 
 

4) What is the value of 3 times 2? 
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5) Fill the blank given: 

 
 

6) Write the values of the following: 
a) 2 × 0 = ___ 
b) 2 × 1 = ___ 
c) 2 × 2 = ___ 

 
7) State true or false. 

4 times 3 = 3 times 4 
 
 
 

8) The price of one packet of juice is $13. Use 13 times table to find 
the price of 6 such packets of juice. 

 
 

9) If one color tray has 7 colors, how many colors would be there in 7 
such trays? 

 
10) Match the following: 

 

Column A Column B 

1. 6 × 5 a) 36 
2. 6 × 6 b) 42 

3. 6 × 7 c) 30 
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1) 4 x 1 = 4 

4 x 2 = 8 

4 x 3 = 12 

4 x 4 = 16 

4 x 5 = 20 

4 x 6 = 24 

4 x 7 = 28 

4 x 8 = 32 

4 x 9 = 36 

4 x 10 = 40 

2) 14 

3) 

 
4) 3 × 2 = 6 

5) 54 

 
 
6) 

a) 0 
b) 2 
c) 4 

7) True 

8) $78 

9) 7 × 7 = 49 colors 

10) 1-c, 2-a, 3-b 
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1. Times table of 9 is very easy to write by writing all 
numbers from 0 to 9 at the unit place and from 9 
to 0 at ones place. 

 
 
 

2. 0 doesn’t have a time table as a number when 
multiplied by 0 gives 0 as the answer. 
 

 

3. To get times table of 2, start with 2 and add 2 at 
every step to from a table. This process is same 
for every time tables. 
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